EAGRAROBREERT — 2 N— ABISH —F 20195 12A8H (H) 17m{£E2H

MM C2—17# C2 ¥5%R3®KL B R
[AE£] 1% :250,000”  23#%&:7500M  3%&:25000M  43%&:1500H . 573#&:10,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
PN = 31, -2-2- 7| - AR (EE)
ilglglvrnreya— B4 an 1(3_1)3 2-2-2-2 | 39.7 1 (zs) 2a% =1
R:7y3Is—L BEQ-VI4T =i BS
o [© BEEIFE :31. -1-1- . - REM (£8)
olzl 7| VyBI1KY i 3 S0 1(33/14)5 1-1-1-1 | 40.6 2 (4_255) fxﬁ%m "
Ly hNgoeFd B:UyhLA47TI— BH T
75 = b 3 | WTHRE 1:32.7 7-6-4-3 |39.8| — 4 476 | ABRE (EH)
77— 54.0 ®6) (+36) | FOEN
RFUFHFY IR BT aRX 2 =R BER
AHAFY 4 X i 5 iﬂégléff@)k 1:(353).6 3-3-3-4 |41.6| — 7 456 ggi ;EE)
LIV TA—H— BV IFIH— ) xm -
= o= TREAE :33. ~7-7— . — BEBTE (£8)
TS5 AN # 3 BB (11 313/29) 6-7-7-6 | 39.8 8 42;7 fuaa;fﬁ =]
Lo gdrdns B39 3T 7 777 BEsS
o5 = 5 Al :34. —4-5-! . - BIEYX (158)
v bhZJ I 56.0 1(33/%1 s 4 s g) Smas
LN=HINK BT7AT1940—> =Eivie
MrhE A . —8-8- — HAERAE (1£%8)
TV=YTX4a— RN 1'%'8 Foes | %0 ¢ ?_234) BEET e
X THANAIN BN —F 21— "HET7—L
- = B4 | B 1:36.7 5-5-6-7 |43.4| — 5 442 | RBER (EH)
8111 |N>TIARXT 54.0 (21 %) 1) | (B J P NER
R:TTy U84 F B FO0H UL EETT— L
@ 1—F—@&BIEf
13=zr= 7,8,5,4,1,6,3,2
23—+ — 7,8,5,4,1,3,6,2
Gal=7r= 7,8,5,3,4,1,6,2
43—F— 7,8,3,5,4,6,1,2
[ RN
B OB 8 180M4 714K 7-8 100M B = 7-8 160H 3ER 3-7-8 280M
1 B 8 120/ 3-8 180M B H 8-7 280M JEH 8-7-3 770M
7 1004 3-7 220M
3 140M

ARICOVWTRDTEEERROODE. TR LI,



